
D
E
C
E
M
B
E
R
  2
0
23



December 2023

TEKNOROT REF: AF-488 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint

Weight: 2,2

STELVIO

MODEL NO BODY YEAR DIRECTION OEM NO

2016-
Front Right

Lower
Rearward

50552328, 68394930AA

COMPONENTS NUMBER NAME DIRECTION OEM NO

EXC.Quadrifoglio

Length: 346 Bolt Metric: M14X1,5

AF-BS033
Control Arm

Bushing
Front Lower
Rearward

50552623*, 50552625*,
68394931AA*, 68394922AA*

TEKNOROT REF: AF-489 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint

Weight: 1,74

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2016-
Front Left

Lower
Rearward

50552330, 68394920AA

COMPONENTS NUMBER NAME DIRECTION OEM NO

EXC.Quadrifoglio

Length: 346 Bolt Metric: M14X1,5

AF-BS033
Control Arm

Bushing
Front Lower
Rearward

50552623*, 50552625*,
68394931AA*, 68394922AA*

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: B-1053 ADAPTABLE BMW
Tie Rod

Weight: 0,63

iX

MODEL NO BODY YEAR DIRECTION OEM NO

I20 2021- Front 32105A306E7, 32105A306E8

Length: 231 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

TEKNOROT REF: B-1096 ADAPTABLE BMW
Stabilizer Bar Link

Weight: 0,372

X1

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U11 2022- Front 31306891251

Length: 320,5 Bolt Metric: M10X1,5

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: B-1096 ADAPTABLE BMW
Stabilizer Bar Link

Weight: 0,372

2-SERIES ACTIVE
TOURER

MODEL NO BODY YEAR DIRECTION OEM NO

U06 2021- Front 31306891251

Length: 320,5 Bolt Metric: M10X1,5

TEKNOROT REF: B-238 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018-
Front Right

Upper
31106883832

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: B-238 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

iX

MODEL NO BODY YEAR DIRECTION OEM NO

I20 2021-
Front Right

Upper
31106883832

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

TEKNOROT REF: B-238 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019-
Front Right

Upper
31106883832

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: B-238 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

X6

MODEL NO BODY YEAR DIRECTION OEM NO

G06 2020-
Front Right

Upper
31106883832

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

TEKNOROT REF: B-239 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018-
Front Left

Upper
31106883831

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: B-239 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

iX

MODEL NO BODY YEAR DIRECTION OEM NO

I20 2021-
Front Left

Upper
31106883831

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

TEKNOROT REF: B-239 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019-
Front Left

Upper
31106883831

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: B-239 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 1,49

X6

MODEL NO BODY YEAR DIRECTION OEM NO

G06 2020-
Front Left

Upper
31106883831

COMPONENTS NUMBER NAME DIRECTION OEM NO

Mild Hybrid

Length: 267

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

TEKNOROT REF: CH-1203 ADAPTABLE CADILLAC
Tie Rod

Weight: 1,03

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT900 2007-2014 Front 15895647

6.0L Electric / Gas

Length: 319 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: CH-1203 ADAPTABLE CHEVROLET
Tie Rod

Weight: 1,03

SILVERADO 1500

MODEL NO BODY YEAR DIRECTION OEM NO

GMT900 2007-2013 Front 15895647

6.0L Electric / Gas

Length: 319 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

TEKNOROT REF: CH-1203 ADAPTABLE CHEVROLET
Tie Rod

Weight: 1,03

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT900 2007-2014 Front 15895647

6.0L Electric / Gas

Length: 319 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: CH-1203 ADAPTABLE GMC
Tie Rod

Weight: 1,03

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

GMT900 2007-2013 Front 15895647

6.0L Electric / Gas

Length: 319 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

TEKNOROT REF: CH-1203 ADAPTABLE GMC
Tie Rod

Weight: 1,03

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2007-2014 Front 15895647

6.0L Electric / Gas

Length: 319 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: DO-1034K ADAPTABLE DODGE
Ball Joint Kit

Weight: 0,941

DAKOTA

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 1997-2004 Front Lower
K7241, 52038348, 52038349,

52038742

USA Market/RWD/Bolt
On Type

Length: 94,3 Bolt Metric: M16X1,5

YEAR ONLY
1997-1999

TEKNOROT REF: DO-1034K ADAPTABLE DODGE
Ball Joint Kit

Weight: 0,941

DURANGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1998-2003 Front Lower
K7241, 52038348, 52038349,

52038742

USA Market/RWD/Bolt
On Type

Length: 94,3 Bolt Metric: M16X1,5

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: DO-621 ADAPTABLE DODGE
Tie Rod End

Weight: 0,69

RAM 1500

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 1994-2001 Front Outer
ES3172RLT, 52037570, 52037571,

52037584

USA Market / RWD

Length: 96 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

YEAR ONLY
1994-2001

TEKNOROT REF: DO-621 ADAPTABLE DODGE
Tie Rod End

Weight: 0,69

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Outer
ES3172RLT, 52037570, 52037571,

52037584

USA Market / RWD

Length: 96 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

YEAR ONLY
1994-1999

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: DO-621 ADAPTABLE DODGE
Tie Rod End

Weight: 0,69

RAM 3500

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 1994-2001 Front Outer
ES3172RLT, 52037570, 52037571,

52037584

USA Market / RWD

Length: 96 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

YEAR ONLY
1994-1999

TEKNOROT REF: F-1068 ADAPTABLE FIAT
Control Arm and Ball Joint

Weight: 2,75

500e

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right 52140445

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 346

F-350 Ball Joint Front Lower 51890709*, 51956709*, 51890706*

FI-BS140
Control Arm

Bushing
Front Inner 52140445*, 52140446*

FI-BS141
Control Arm

Bushing
Front Outer 52140445*, 52140446*

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: F-1069 ADAPTABLE FIAT
Control Arm and Ball Joint

Weight: 2,75

500e

MODEL NO BODY YEAR DIRECTION OEM NO

2020- Front Left 52140446

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 346

F-350 Ball Joint Front Lower 51890709*, 51956709*, 51890706*

FI-BS140
Control Arm

Bushing
Front Inner 52140445*, 52140446*

FI-BS141
Control Arm

Bushing
Front Outer 52140445*, 52140446*

TEKNOROT REF: FI-BS140 ADAPTABLE FIAT
Control Arm Bushing

Weight: 0,145

500e

MODEL NO BODY YEAR DIRECTION OEM NO

2020- Front Inner 52140445*, 52140446*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 52,2

F-1068
Control Arm

and Ball Joint
Front Right 52140445

F-1069
Control Arm

and Ball Joint
Front Left 52140446

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: FI-BS141 ADAPTABLE FIAT
Control Arm Bushing

Weight: 0,233

500e

MODEL NO BODY YEAR DIRECTION OEM NO

2020- Front Outer 52140445*, 52140446*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 51,5

F-1068
Control Arm

and Ball Joint
Front Right 52140445

F-1069
Control Arm

and Ball Joint
Front Left 52140446

TEKNOROT REF: FO-138 ADAPTABLE FORD
Lateral Arm

Weight: 2,85

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020-
Rear Right

Lower
LB5Z3078B

COMPONENTS NUMBER NAME DIRECTION OEM NO

w/ Police & Hybrid
Version

Length: 344

FD-BS237
Control Arm

Bushing
Front Lower
Rearward

LB5Z3078A*, LB5Z3079A*,
LB5Z3078B*, LB5Z3079B*

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: FO-139 ADAPTABLE FORD
Lateral Arm

Weight: 2,85

EXPLORER

MODEL NO BODY YEAR DIRECTION OEM NO

U625 2020-
Rear Left

Lower
LB5Z3079B

COMPONENTS NUMBER NAME DIRECTION OEM NO

w/ Police & Hybrid
Version

Length: 344

FD-BS237
Control Arm

Bushing
Front Lower
Rearward

LB5Z3078A*, LB5Z3079A*,
LB5Z3078B*, LB5Z3079B*

TEKNOROT REF: FO-1881 ADAPTABLE FORD
Tie Rod End

Weight: 1,988

EXCURSION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UW137 2000-2005 Front Left Inner
DS1434, 3C3Z3A130AA,

4C3Z3A130

USA Market

Length: 412 Bolt Metric: M14X1,5 Housing Metric: 7/8" 16G

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: FO-1881 ADAPTABLE FORD
Tie Rod End

Weight: 1,988

F-250 SUPER DUTY

MODEL NO BODY YEAR DIRECTION OEM NO

PHN131 1999-2007 Front Left Inner
DS1434, 3C3Z3A130AA,

4C3Z3A130

USA Market

Length: 412 Bolt Metric: M14X1,5 Housing Metric: 7/8" 16G

TEKNOROT REF: FO-1881 ADAPTABLE FORD
Tie Rod End

Weight: 1,988

F-350 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PHN131 1999-2007 Front Left Inner
DS1434, 3C3Z3A130AA,

4C3Z3A130

USA Market

Length: 412 Bolt Metric: M14X1,5 Housing Metric: 7/8" 16G

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: H-1196 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,345

HR-V

MODEL NO BODY YEAR DIRECTION OEM NO

RV5 2022- Front Right 513203M0J01

e:HEV

Length: 340 Bolt Metric: M10X1,25

TEKNOROT REF: H-1197 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,345

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022- Front Left 513253M0J01

e:HEV

Length: 340 Bolt Metric: M10X1,25

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: H-131 ADAPTABLE HONDA
Tie Rod End

Weight: 0,666

ACCORD

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 1994-1997 Front Right 53540SX0013

Length: 218 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

TEKNOROT REF: H-131 ADAPTABLE HONDA
Tie Rod End

Weight: 0,666

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RA1/2/3/4/5 1994-1998 Front Right 53540SX0013

Length: 218 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: H-132 ADAPTABLE HONDA
Tie Rod End

Weight: 0,666

ACCORD

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 1994-1997 Front Left 53560SX0013

Length: 218 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

TEKNOROT REF: H-132 ADAPTABLE HONDA
Tie Rod End

Weight: 0,666

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RA1/2/3/4/5 1994-1998 Front Left 53560SX0013

Length: 218 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: IN-198 ADAPTABLE INFINITI
Lateral Arm

Weight: 1,454

M37

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2010-2019 Rear Lower 551B01MA1B

Length: 458

YEAR ONLY
2011-2013

TEKNOROT REF: IN-198 ADAPTABLE INFINITI
Lateral Arm

Weight: 1,454

M56

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2019 Rear Lower 551B01MA1B

Length: 458

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: IN-198 ADAPTABLE INFINITI
Lateral Arm

Weight: 1,454

Q60

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2016-2022 Rear Lower 551B01MA1B

Length: 458

TEKNOROT REF: IN-198 ADAPTABLE INFINITI
Lateral Arm

Weight: 1,454

M35h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2019 Rear Lower 551B01MA1B

Length: 458

YEAR ONLY
2012-2013

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: IN-198 ADAPTABLE INFINITI
Lateral Arm

Weight: 1,454

Q50

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2014- Rear Lower 551B01MA1B

Length: 458

TEKNOROT REF: JA-929 ADAPTABLE JAGUAR
Lateral Arm

Weight: 2,2

F-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X761 2016-
Front Lower

Forward
T4A1012

Length: 398

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: JA-929 ADAPTABLE LAND ROVER
Lateral Arm

Weight: 2,2

RANGE ROVER VELAR

MODEL NO BODY YEAR DIRECTION OEM NO

L560 2017-
Front Lower

Forward
T4A1012

Length: 398

TEKNOROT REF: JG-BS039 ADAPTABLE JAGUAR
Lateral Arm Bushing

Weight: 0,82

XK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X150 2006-2014 Front Lower C2P17091*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 70

JA-1128 Lateral Arm Front Lower C2P17091

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: KI-1014K ADAPTABLE KIA
Ball Joint Kit

Weight: 1,15

SEDONA

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen / YL 2015- Front Lower 54501A9100*, 54500A9100*

Length: 89

TEKNOROT REF: LA-311 ADAPTABLE LAND ROVER
Tie Rod End

Weight: 0,74

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front LR162107

Length: 136 Bolt Metric: M14X2 Housing Metric: M16X1,5

www.teknorot.com 24

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: LR-BS027 ADAPTABLE LAND ROVER
Control Arm Bushing

Weight: 0,25

DISCOVERY

MODEL NO BODY YEAR DIRECTION OEM NO

L319 2004-2009 Front Upper
LR051617*, LR026095*,
RBJ500840*, LR074838*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 53

LA-428
Control Arm

and Ball Joint
Front Right

Upper
LR051617, LR026095, RBJ500840

LA-429
Control Arm

and Ball Joint
Front Left

Upper
LR074838, LR051618, RBJ500850

TEKNOROT REF: LR-BS027 ADAPTABLE LAND ROVER
Control Arm Bushing

Weight: 0,25

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L320 2006-2013 Front Upper
LR051617*, LR026095*,
RBJ500840*, LR074838*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 53

LA-428
Control Arm

and Ball Joint
Front Right

Upper
LR051617, LR026095, RBJ500840

LA-429
Control Arm

and Ball Joint
Front Left

Upper
LR074838, LR051618, RBJ500850

www.teknorot.com 25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

GS200t

MODEL NO BODY YEAR DIRECTION OEM NO

2013- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

GS300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L10 2011-2020 Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

www.teknorot.com 26

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

GS350

MODEL NO BODY YEAR DIRECTION OEM NO

L10 2013- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

GS450h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L10 2011-2020 Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

www.teknorot.com 27

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

IS200t

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

IS250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

www.teknorot.com 28

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

IS300

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

IS350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

www.teknorot.com 29

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: LX-BS028 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,21

RC

MODEL NO BODY YEAR DIRECTION OEM NO

XC10 2015- Rear 4870530120*, 4870630050*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44

LX-478
Control Arm

and Ball Joint
Rear Right 4870530120

LX-479
Control Arm

and Ball Joint
Rear Left 4870630050

TEKNOROT REF: M-108 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,14

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022-
Front Right

Lower
2973305800

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 375,6 Bolt Metric: 16X1,5

ME-BS290
Control Arm

Bushing

Front Lower
Rearward

Outer

2063305102*, 2063305202*

ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

www.teknorot.com 30

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: M-108 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,14

EQS

MODEL NO BODY YEAR DIRECTION OEM NO

V297 2021-
Front Right

Lower
2973305800

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 375,6 Bolt Metric: 16X1,5

ME-BS290
Control Arm

Bushing

Front Lower
Rearward

Outer

2063305102*, 2063305202*

ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

TEKNOROT REF: M-109 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,14

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022-
Front Left

Lower
2973305700

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 375,6 Bolt Metric: 16X1,5

ME-BS290
Control Arm

Bushing

Front Lower
Rearward

Outer

2063305102*, 2063305202*

ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

www.teknorot.com 31

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: M-109 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,14

EQS

MODEL NO BODY YEAR DIRECTION OEM NO

V297 2021-
Front Left

Lower
2973305700

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 375,6 Bolt Metric: 16X1,5

ME-BS290
Control Arm

Bushing

Front Lower
Rearward

Outer

2063305102*, 2063305202*

ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

TEKNOROT REF: M-1408 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,98

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020-
Front Right

Upper
2233302600

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 299 Bolt Metric: M14X1,5

ME-BS300
Control Arm

Bushing
Front Upper 2063302200*, 2063302100*

www.teknorot.com 32

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: M-1409 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,98

S-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W223 2020-
Front Left

Upper
2233302500

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 299 Bolt Metric: M14X1,5

ME-BS300
Control Arm

Bushing
Front Upper 2063302200*, 2063302100*

TEKNOROT REF: M-1418 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,47

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020-
Front Right

Lower
2233304803

COMPONENTS NUMBER NAME DIRECTION OEM NO

4X2

Length: 427 Bolt Metric: M16X1,5

ME-BS328
Control Arm

Bushing
Front Lower 2233304803*, 2233304703*

www.teknorot.com 33

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: M-1419 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,47

S-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W223 2020-
Front Left

Lower
2233304703

COMPONENTS NUMBER NAME DIRECTION OEM NO

4X2

Length: 427 Bolt Metric: M16X1,5

ME-BS328
Control Arm

Bushing
Front Lower 2233304803*, 2233304703*

TEKNOROT REF: M-1428 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,11

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022-
Front Right

Upper
2973304400

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 298,5 Bolt Metric: M14X1,5

ME-BS329
Control Arm

Bushing
Front Upper 2973304400*, 2973304300*

www.teknorot.com 34

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: M-1428 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,11

EQS

MODEL NO BODY YEAR DIRECTION OEM NO

V297 2021-
Front Right

Upper
2973304400

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 298,5 Bolt Metric: M14X1,5

ME-BS329
Control Arm

Bushing
Front Upper 2973304400*, 2973304300*

TEKNOROT REF: M-1429 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,11

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022-
Front Left

Upper
2973304300

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 298,5 Bolt Metric: M14X1,5

ME-BS329
Control Arm

Bushing
Front Upper 2973304400*, 2973304300*

www.teknorot.com 35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: M-1429 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 2,11

EQS

MODEL NO BODY YEAR DIRECTION OEM NO

V297 2021-
Front Left

Upper
2973304300

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 298,5 Bolt Metric: M14X1,5

ME-BS329
Control Arm

Bushing
Front Upper 2973304400*, 2973304300*

TEKNOROT REF: ME-BS328 ADAPTABLE MERCEDES
Control Arm Bushing

Weight: 0,569

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020- Front Lower 2233304803*, 2233304703*

COMPONENTS NUMBER NAME DIRECTION OEM NO

4X2

Length: 80

M-1418
Control Arm

and Ball Joint
Front Right

Lower
2233304803

M-1419
Control Arm

and Ball Joint
Front Left

Lower
2233304703

www.teknorot.com 36

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: ME-BS329 ADAPTABLE MERCEDES
Control Arm Bushing

Weight: 0,132

EQE

MODEL NO BODY YEAR DIRECTION OEM NO

V295 2022- Front Upper 2973304400*, 2973304300*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 62

M-1428
Control Arm

and Ball Joint
Front Right

Upper
2973304400

M-1429
Control Arm

and Ball Joint
Front Left

Upper
2973304300

TEKNOROT REF: ME-BS329 ADAPTABLE MERCEDES
Control Arm Bushing

Weight: 0,132

EQS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V297 2021- Front Upper 2973304400*, 2973304300*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 62

M-1428
Control Arm

and Ball Joint
Front Right

Upper
2973304400

M-1429
Control Arm

and Ball Joint
Front Left

Upper
2973304300

www.teknorot.com 37

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: MZ-BS068 ADAPTABLE MAZDA
Control Arm Bushing

Weight: 0,182

MX-5

MODEL NO BODY YEAR DIRECTION OEM NO

ND 2015- Rear NE5128650B*, NE5128600B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 55

MA-1038
Control Arm

and Ball Joint
Rear Right NE5128600B

MA-1039
Control Arm

and Ball Joint
Rear Left NE5128650B

TEKNOROT REF: MZ-BS068 ADAPTABLE MAZDA
Control Arm Bushing

Weight: 0,182

MX-5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

ND 2015- Rear NE5128650B*, NE5128600B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 55

MA-1038
Control Arm

and Ball Joint
Rear Right NE5128600B

MA-1039
Control Arm

and Ball Joint
Rear Left NE5128650B

www.teknorot.com 38

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: N-1458 ADAPTABLE NISSAN
Control Arm and Ball Joint

Weight: 2,735

MURANO

MODEL NO BODY YEAR DIRECTION OEM NO

Z51 2009-2014
Rear Right

Upper
CMS301010, 555011AA0A,

555011JA0A

Length: 345,1 Bolt Metric: M16X1,5

TEKNOROT REF: N-1459 ADAPTABLE NISSAN
Control Arm and Ball Joint

Weight: 2,735

MURANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z51 2009-2014
Rear Left

Upper
CMS301009, 555021AA0A,

555021JA0A

Length: 345,1 Bolt Metric: M16X1,5

www.teknorot.com 39

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: N-1478 ADAPTABLE NISSAN
Lateral Arm

Weight: 0,682

ALTIMA

MODEL NO BODY YEAR DIRECTION OEM NO

L31 2002-2006 Rear Forward 551A03Z000

Length: 306

TEKNOROT REF: N-1478 ADAPTABLE NISSAN
Lateral Arm

Weight: 0,682

MAXIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A34 2004-2008 Rear Forward 551A03Z000

Length: 306

www.teknorot.com 40

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: O-1033 ADAPTABLE OPEL
Tie Rod

Weight: 0,477

ASTRA L

MODEL NO BODY YEAR DIRECTION OEM NO

2022- Front 1675957480

Length: 207,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: O-1033 ADAPTABLE PEUGEOT
Tie Rod

Weight: 0,477

308

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front 1675957480

Length: 207,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 41

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: RA-188 ADAPTABLE DODGE
Lateral Arm

Weight: 3,18

RAM 4500

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2006-2010 Front Upper 52855625AB

Length: 418,5

TEKNOROT REF: RA-188 ADAPTABLE DODGE
Lateral Arm

Weight: 3,18

RAM 5500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2006-2010 Front Upper 52855625AB

Length: 418,5

www.teknorot.com 42

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: RA-188 ADAPTABLE RAM
Lateral Arm

Weight: 3,18

4500

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2011-2018 Front Upper 52855625AB

Length: 418,5

TEKNOROT REF: RA-188 ADAPTABLE RAM
Lateral Arm

Weight: 3,18

5500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2018 Front Upper 52855625AB

Length: 418,5

www.teknorot.com 43

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: T-1253 ADAPTABLE TOYOTA
Tie Rod

Weight: 0,528

AVANZA

MODEL NO BODY YEAR DIRECTION OEM NO

F650 2011- Front 45503BZ220

Length: 282 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

TEKNOROT REF: T-1648 ADAPTABLE TOYOTA
Lateral Arm

Weight: 3,6

LAND CRUISER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J200 2008- Rear Lower 4872060070

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 685,5

TO-BS295
Lateral Arm

Bushing
Rear Lower 4872060070*

www.teknorot.com 44

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2023

TEKNOROT REF: TO-BS295 ADAPTABLE TOYOTA
Lateral Arm Bushing

Weight: 0,441

LAND CRUISER

MODEL NO BODY YEAR DIRECTION OEM NO

J200 2008- Rear Lower 4872060070*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 61,8

T-1648 Lateral Arm Rear Lower 4872060070

www.teknorot.com 45

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


